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Estimating Angle

Name:

Solve each problem.
1)

Which choice best
represents 2KLM?

A. 86°
B. 110°
C. 6°

D. 166°

4)

A

e

Which choice best
represents 7ABC?
A. 70°

B. 27°
C. 155°
D. 113

7)

K

Which choice best
represents 2KLM?
A. 15I°

B. 57°
C. 1r°
D. 90°

A. 146°
B. 21°
C. 50°
D. 103°

5)

K

Which choice best
represents 2KLM?

A. 127°
B. 59°
C. 105°
D. 20°

8)

K L

M

Which choice best
represents 2KLM?

A. 90°
B. 13°

C. 180°
D. 12r°

>

2) 3)
M

Which choice best
represents 2KLM?

Which choice best
represents 2KLM?
A. 145°

B. 120°
C. 179°
D. 49

6)

B
Which choice best
represents 7ABC?
A. 118°

B. 23°
C. 170°
D. 144°

9)

Which choice best
represents 7ABC?
A. 77°

B. 179°
C. 1°
D. 36°
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ﬂé Estimating Angle Name. Answer Key

Solve each problem. Answers
1) 2) 3)
i“_\M 1. D
K L_— K K 5 D
Which choice best Which choice best Which choice best —
represents 2KLM? represents 2KLM? represents 2KLM?
A. 86° A. 146° A. 145° 3. D
B. 110° B. 21° B. 120°
C. 6 C. 50° C. 179° s B
D. 166° D. 103° D. 49°
5. C
6 B
4) 5) 6) . D
:»A A e
B C K B— C -
Which choice best Which choice best Which choice best 9 A
represents 7ABC? represents 2KLM? represents 7ABC?
A. 70° A. 127° A. 118°
B. 27° B. 59° B. 23°
C. 155° C. 105° C. 170°
D. 113 D. 20° D. 144°
7) 8) 9)
K K L M C
Which choice best Which choicebest Which choice best
represents 2KLM? represents 2KLM? represents 7ABC?
A. 151° A. 90° A TT°
B. 57° B. 13° B. 179°
C. 1r C. 180° C. I°
D. 90° D. 127° D. 36°
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